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Question1. Let U ={0,1,2,3,4,5,6,7,8,9,10,11,12,13},

{x |x €U, is an even number less than 10},

A=
B ={0,2,4,6,8,10,12},and C ={0,1,2,3,4)

Find(4'UB)NC.
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Question 2.

]
For—<x <% and y >0, write the expression — |3x - 1| — |2y + 1| -xXx+Yy
3
without the absolute value symbol.
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Question 3.

2

a) Determine the property of real numbers illustrated in the

following statement

(a+3b)+50 =(3b +a)+50
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b) Simplify 16+2-[s—3-(22-2)]+1
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10x®+11x*=2x +3 R(x
a - i \_( ) , then find

. - x )+
Question 4. If S Ofx) c

i. R{x)=
ii. Thedegreeof O(x)_
iii. The leading coefficient of Q(x)
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Question 5. Factor completely the trinomial

15(a+3)" +9(a+3)—6
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Question 6.

Factor completely the expression x’p* —4x’ —8y* +32
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Question 7.  Simplify ,)_sz
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Question 8. Assume all variables represent positive real numbers.
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